R= EH G
105(BHDF v o EQ 4.1kHz ©—7(+6dB:Q=1) > 1E) 4.13kHz E—2(+7.2dB: Q=1)
10|y Xaws v 027 EQ 100Hz B—7 v k(48dB/oct) = E) 114Hz O—5 v k(24dB/oct)
180Hz E—7(-4dB: Q=1) - IE) 177Hz E—2(+3.7dB: Q=1)
> T A — R —FREEM) 1.95kHz E—2(-3.2dB : Q=0.5)
3.4kHz E—2(+3dB: Q=1) — iF) 7.25kHz /"4 ¥z 7(+2.4dB : Q=1)
115|BEHDFH—/N—~y K av7TLyH— INPUT +17.6dB - 1E) INPUT +33.5dB
TRy 4ms > F) 74v7 95ms
YY—x 104ms = IF) YY—2 AUTO
DRIVE 6dB - IF) DRIVE 1dB
OUTPUT -1.4dB > 1IE) OUTPUT -3.8dB
118[BHD N T LR EQ S5kHz /A z)L7(+1.3dB: Q=1) — iE) 5.03kHz /"M >z )L 7(+2.4dB: Q=1)
119|174 ¥ H—~R—2X EQ 200Hz E—7% (-5dB:Q=1) - IE) 225Hz E—7% (-5dB:Q=1)
121y I R—=X EQ 65Hz A—Av + (48dB/oct) > IE) 56Hz A—Av + (48dB/oct)
122|235y 7~—2 EQ 65Hz B —7 v k(48dB/oct) = E) 56Hz O—# v f(48dB/oct)
90Hz E—7(+2dB:Q=1) — IE) 90Hz E—Z(+4dB:Q=1)
127|xm Yy T EQ 80Hz A —# v +(24dB/oct) > IF) 61Hz A—#H v k(24dB/oct)
avFLyy— CHARACTER 45% — IF) CHARACTER 21%
131y FxrszLe EQ 480Hz E—2(-6dB: Q=1) - 1) 477Hz E—7(-4dB: Q=1)
1.7kHz E—7%(+5dB: Q=1) > 1E) 1.73kHz E—72(+3.7dB: Q=1)
133[RbY VT REI v avrLyt— DRIVE +2dB — DRIVE +5dB
138|BH/Ny 73 —F R avFLyv—2 OUTPUT -1.5dB — OUTPUT -11.5dB
= G ESIy
150|Snare EQ 274Hz E—2(+2.1dB: Q=2) — iE) 274Hz E—2(+2.1dB: Q=2.9)
152|Hihat avFLyt— AL y¥aik -16.1dB — ) AL y¥aiF -248dB
155|0H AFLFAAX—D v — /N> F2  254Hz~6.05kHz = IE) /8> K2 254Hz~6.07kHz
/3> K3 6.05kHz~20kHz = 1E) /N> K3 6.07kHz~20kHz
169|Gtl_Ref EQ 298Hz E—7(-3.5dB: Q=1) = 1E) 298Hz E—2(+3.5dB: Q=1)
172|Gtl_Lead avFLyy— ANALYSIS 0% = IF) ANALYSIS 30%
176|Gtl_Cut EQ 3.94kHz E—2(+6dB: Q=20) — 1F) 3.94kHz E—7%(-6dB: Q=20)
184(Gt2_Back 275 — DELAY 40% — DELAY 15%

OUTPUT -20.5dB — OUTPUT -15.9dB
188|Syn_Brs EQ 3.06kHz E—2 (+7.7dB:Q=1) — 3.06kHz ~A>xiL7 (+7.7dB:Q=1)
189|Strings EQ1 101kHz B —#v k(24dB/oct) = 155Hz B —# v k(48dB/oct)

503Hz E—7%(M/SE—F MIDX%R) - 553Hz E'—7%(+2.8dB: Q=1)
Q=0.5 = INT X — 2 —RTEHIR
GAIN=-3.4dB — T A — R —REHIBR
- NT A —R—FREBM) 669kHz E— 2 (-5dB : Q=6.9)
= NT A —R—FHEBHN) 885Hz £ — 2 (-3.5dB: Q=0.9)
4.85kHz  &— 2 (M/SE— K MIDXKR) = T A — R —REHIBR
Q=05 — INT A — R —KEHIBR
GAIN=-3.1dB = NT A — R —FRTEHIBR
3.06kHz E—Z(+7.7dB: Q=1) - NT A — & —FREHIBR
2.06kHz /~4 > =)L 7(-10.7dB : Q=1) — 2.06kHz /~A > =)L 7(+10.7dB : Q=0.5)
EQ2 171Hz A—# v k(48dB/oct) = NT A — R —RTEHIBR
203|ChoBus 275 — DELAY 40%(HUMANIZE : 40%) = DELAY 72%(HUMANIZE : 77%)
aArv7Lyt—2 OUTPUT -3.3dB — OUTPUT -13.3dB
= =] By
250(M/SHLEBE b—2 LA 23F4P 52 |EQ2 244Hz A—> L7 (M/SE—F /MIDHR) > 244Hz A—3 =)L 7(M/SE—F /MIDMR)
GAIN +1dB = GAIN +1.9dB
500Hz E—7(M/SE—F /MIDKR) = 500Hz E—7(M/SE—F /MIDKR)
GAIN +1dB > GAIN +2.4dB

P171

i5) HEQ: X kY v ZEQDFrequency% A (
iF) MEQ:/¥7 X kY v ZEQDFrequency% A (—

v 7EQE LTHER) o R—REDS
WLAF Iy VEQELTHEM) o R—REHZY A

¢ &R (132HZUF) &, TLZ hY Y IET / EDFFREVLD H298HzL801Hz%EH v b L
SR (132HZUF) &, TLIbY v oET /L 0FERAVAS80IHZE S v b L




